

Convertir Fahrenheit a Celsius (E)

Estime o convierta las temperaturas.

$-79^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$49^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$19^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-28^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-51^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-32^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-73^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$16^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$78^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-87^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-38^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-77^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$23^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-30^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$64^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-79^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$40^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-86^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$31^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$4^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$83^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$52^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$56^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-44^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$76^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$100^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$52^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$